RollerDrive°

RollerDrive specifications

Grease lubrication type

Model MR20 MR25 MR32
Gear ratio 10 12 12
Upper limit torque at start/stop N-m 2.7 5.2 10.0
Max. input speed* min—1 2,000
Rated input speed* min=1 1,500
Angular repeatability accuracy arc-sec or less +15
Surface runout um or less 50
Weight (Motor not included) kg 1.0 1.3 2.1

* |f you want to rotate the output continuously for 360 ° or more, please contact us in advance.

How to determine the allowable load mass and allowable moment

Check the allowable load mass and allowable moment as follows.

1. Find the average load torque based on the rated output speed (rpm) and load conditions.
(The maximum load torque should never exceed the starting/stopping upper limit torque)

2. Find the allowable values for the average load torque and rated output speed by looking at the dynamic rated output torque diagram below.
3. Find each maximum allowable value by referring to the allowable load mass diagram, the allowable moment diagram and the average load torque.

MR20 dynamic rated output torque diagram MR20 allowable load mass diagram MR20 allowable moment diagram
Gear ratio=10
e 30 5.0 : 1.0
= Expected service life time g — Expected service life time E
T = 26,000[h] i~ 26,000(h] . — Expected service life time
s E d ice if % 4.0 Expected service life time = 08 26.000M]
S xpected service e time © 12,000[h] e Expected service life time
ot 20 12.000(h] = ’ @ 12,000[N]
3 - 30 E
3 — 8 4+ £ o5
2 o 20 %
=2 10 o
@© [v] [v]
o© = .
) 3 10 g 03
E < <
3 00 0.0 0.0
0.0 50 100 150 0.0 1.0 2.0 3.0 00 05 1.0 15 20 25 30
Rated output speed[min='] Dynamic rated output torque[N-m] Dynamic rated output torque[N-m]
MR25 dynamic rated output torque diagram MR25 allowable load mass diagram MR25 allowable moment diagram
Gear ratio=12
€ Expected service life time 100 Expected service life time 4.0 .
> —_— —_— Expected service life time
=4 — —
§ s0 26.000[n] Y 26,0000 € 26,000[h]
o Expected service life time D Expected service life time > .
8 4o 12.0001h] o 75 12,0000n] “E 3.0 E}xzpeétgg[s:]rvwce life time
5 £ 2
£ 30 3 E
i — | [Beom— + |2 =0
3 o s I
& 20 a o
o g o5 2 o0
€ 10 5 5
g < <
0.0 0.0
2 Yoo 50 100 150 0.0 50 0o 3.0 50
Rated output speed[min~'] Dynamic rated output torque[N-m] Dynamic rated output torgue[N-m]
MR32 dynamic rated output torque diagram MR32 allowable load mass diagram MR32 allowable moment diagram
Gear ratio=12
= 120 15.0 4.0 7
= — Expected service life time - —— Expected service life time
T 100 — Expected service life time w 26.000([h] £ 26,000[h]
3 . 26,000[h] 5 Expected service life time % 3.0 Expected service life time
Q 8.0 Expected service life time g 10.0 12,000[h] c 12,000[h]
£ e 12.0000h] £ £ x
[=% hol o
6.0 2.0
é . g _\ + E
o [0) -
o 40 2 5.0 S
© © = 10
o 20 H B
£ 2 =
o <
S 00 0.0 0.0
a 0.0 50 100 150 0.0 5.0 10.0 0.0 5.0 10.0
Rated output speed[min~'] Dynamic rated output torque[N-m] Dynamic rated output torque[N-m]




MR20 Dimensions

IMR20 standard specifications dimensional drawings (no options) Unit:mm
54
= *3 55 *3
50 ) 42 6.5
ey (6)M3x0.5, 6DP 275

Output table

|
5

S

=

<
26.5

S

(D\Q{
ANan
oTe
\o19)

*3

a/ (3)¢4.5 THRU, C-BORE 8, 8DP(V surface) %3
(3)M6x1, 12DP (W surface)

(4)M6x1, 8DP

Motor base
o
|

30

*1 This figure shows a motor with a T side mounting specification.
*2 The relationship of the input/output shaft rotation directions is a-d, b-c.
*3 Please refer to pages 7 to 9 for dimensions.

MR20 standard specifications detailed view of the input axis, specifications without attachments

Unit:mm

46

$9.9 8015

&

$8°3015

SLo

46

asze

(4)M3x%0.5, 6DP

T
Y

5




RollerDrive°

MR20' s option A specification dimension drawings

Unit:mm
54
51 *3 55 *3
50 42 6.5
24 (6)M3x0.5, 6DP 275
: 8 12 X
S 0 p=Sry X
Output table N g’ g
. E of e
& T
*3
o =5 — = 7
-1 . O
ol o G ’ b a %3
E K| N © ///f\ .
2 _ () / &
g * J
& \ k3
w || S 3
a/ (3)¢4.5 THRU, C-BORE ¢8, 8DP(V surface) %3
(3)M6X1, 12DP (W surface)
(4)M6x1, 8DP
Motor base
o
‘
R
o
IS — — _ S
|
(o)
T
*1 This figure shows a motor with a T side mounting specification.
*2 The relationship of the input/output shaft rotation directions is a-d, b-c. 20 17.5
*3 Please refer to pages 7 to 9 for dimensions.
MR20's option B specification dimension drawings Unit:mm
64
61 *3 55 %3
53 5 42 6.5
3 24 (6)M3x0.5, 6DP 275
I - 8 12 1%
S 0 et X
Output table K g g
& e
0
& T
H{ *3
ol o —— =
0_t 998 o % %
9 ] 3 H» i b_1.a *3
3 : 7 |G
| S
S \ ~*3
) 1 3
s/ (3) 4.5 THRU, C-BORE 8, 8DP(V surface) %3
(3)M6x1, 12DP (W surface)
(4)M6X1, 8DP
‘ f—;E;:—I—_l Motor base
r
R
o |
I _ _ _ N
o i i

*1 This figure shows a motor with a T side mounting specification.
*2 The relationship of the input/output shaft rotation directions is a-d, b-c.
*3 Please refer to pages 7 to 9 for dimensions.

17.5




MR20 Dimensions

MR20 Attachment Code Selection Chart with Attachment

Unit:mm

*2 55 f f

50

3

24

U surface T surface

a: Insertable motor
shaft diameter

H ﬁﬁ b: Motor shaft diameters

that can be inserted
|

H Y
o :
. i d
[Figure 1] Motor base [Figure 2] Motor base

*1 This figure shows a motor with a T side mounting specification.

70.5

[142
[146
146

24

*2 This figure shows the standard specifications (no options). [mm]
Motor position T surface U surface Attachment code Shape of the motor base
Model Code | MR20-10GLIT | MR20-10G[]U [} Figure 1
*2 45 5 2 to (05 Figure 2
Attacl?jment a b c d e f Attachment code

COCE Accessories

Al ¢5 Al N1 N2, N3, N4 N5

3] (4)p3.4 - -
NT 22 THRU o6 Motor base O O O @)
N2 048 Clamp collar O O O O
(4)M3x0.5,
N3 ¢8 45 6DP Motor shaft sleeve O - - -
- 27.5
N4 30
] 046 (@)M4x0.7, Motor base bolt M3X10 (4) M3%20 (4) | M3X18 (4)
8DP
NS 235 Clamp collar bolts M3X12 (2)
Motor installation schematic
[Figure 1] [Figure 2]
Motor base

Motor base bolts
Motor base bolts
) Motor shaft sleeve
Motor shaft sleeve 4
. Clamp collar "
Clamp collar bolts

Clamp collar bolts

px

Motor mounting bolts Motor base

Motor mounting bolts

* If you choose option A or B specifications, please contact us in advance




MR25 Dimensions

RollerDrive°

IR series

MR25 standard specifications dimensional drawings (no options)

*1 This figure shows a motor with a T side mounting specification.
*2 The relationship of the input/output shaft rotation directions is a-d, b-c.
*3 Please refer to pages 12 to 14 for dimensions.

(3)¢4.5 THRU, C-BORE ¢8, 8DP(V surface)

(3)M6x1, 12DP (W surface)

(4)M6x1, 12DP

Motor base

Unit:mm
59 *3 65 *3
56 50 7.5
55
28 (6)M3x0.5, 6DP -
0 8 12 <>£<,
w Output table 3 ﬁ s
227 7
N HIESE—r =
07| u @ —
“9 i T
T s :
® e N 3121
AN 3 g ° o8
@\ \@‘ & = %3
I N 7
\/ ['o) *
o o ~ v
o *
& ’ @ o ley =
N
3

*

3 &
e °

30

17.5J

MRZ25 standard specifications detailed view of the input axis, specifications without attachments

Unit:mm
50
75 8
— . 3 é
S & &
— o o Q
S B
2 o ®
) Q ,(\7 .U-L
/ i i / - ‘ ’
S
ite)
R N
O I \\ ?
(4)M4x0.7, 7DP

145

10



MR25 Dimensions

MR25’s option A specification dimension drawings Unit:mm
59
56 *3 65 *3
55 50 7.5
28 (6)M3x0.5, 6DP s 525 ° 8 12X
i 5
Output table N ‘ g I‘*'J' g
40 © @ T OgL ={= =
07)_|_ 0 U c d i
= 5 |\ - "
© 823, RN - *3
Y] 1) /
B =4 N\
<l o N A @/\@ Y
| g ™ a *
2 71T
o3 \@_|_ @~ _ 1 © I
2 ‘ #
S [to)
5 L
I S 4 =AY
n/ (3)$4.5 THRU, C-BORE ¢8, 8DP(V surface) *3
(3)M6x1, 12DP (W surface)
(4)M6x1, 12DP
Motor base
—T—
‘
o R
S — = i 1
‘
[ i i
*1 This figure shows a motor with a T side mounting specification. 30 17.5
*2 The relationship of the input/output shaft rotation directions is a-d, b-c.
%3 Please refer to pages 12 to 14 for dimensions.
MR25’s option B specification dimension drawings Unit:mm
69
66 *3
58 5
3| 28 (6)M3x0.5, 6DP _
|_ | 0 8 12 X
Output table g Iij 2
S
(0.5) 0 U
U b =~ . T
© 1 M - *3
3 Ik )
< o q
. 34 R i :
2 | o 1
RSy * L
Yo}
N
1o) k3
N~
B/ (3) ¢4.5 THRU, C-BORE ¢8, 8DP(V surface) *3
(3)M6x1, 12DP (W surface)
(4)M6x1, 12DP
[ Motor base
3@ &
o R
IS _ = i 1
© o
™
J
*1 This figure shows a motor with a T side mounting specification. 30 17_5J
*2 The relationship of the input/output shaft rotation directions is a-d, b-c.
%3 Please refer to pages 12 to 14 for dimensions.

11



RollerDrive°

MR25 Attachment Code Selection Chart with Attachment

Unit:mm

*2 65 f f 55

3 28

U surface

T surface

a: Insertable motor
shaft diameter

H @/ \@% b: Motor shaft diameters
that can be inserted

84

(42

150

[J50
d

275

Ll c
| ~, P %@\ /@%(
‘ [Figure 11\ Motor base  [Figure 21 \ Motor base d

*1 This figure shows a motor with a T side mounting specification. (mm]
%2 This figure shows the standard specifications (no options). Motor position T surface U surface Attachment code Shape of the motor base
Model Code | MR25-12GLIT | MR25-12G[JU [ Figure 1
%2 35 5 [J2 to (16 Figure 2
Attacr('ljment a b c d e f Attachment code
code Accessories
(4 93.4
Al ¢5 p22 31 THRU Al N1 N2, N3, N4 N5 C6
ce $6.35 036 — 41 (4)“8/%;0-7, Motor base O O O O O
26
N1 31 934 Clamp collar O O O O O
22 THRU
N2 ¢48 (4)M3X05, Motor shaft sleeve O - - - O
6DP
N3 8 945 J—— Motor base bolt M4x10 (4) M4x20 (4)|M4X18 (4)[M4x20 (4)
N4 ®»30 045 (4)M4X0.7, Clamp collar bolts M3x12 (2)
N5 8op 235
Motor installation schematic
[Figure 1] [Figure 2]
Motor base

Motor base bolts

Clamp collar

Motor base bolts
§ Motor shaft sleeve
B s'

NS Q

Clamp collar bolts Clamp collar bolts

Motor mounting bolts Motor base

Motor mounting bolts

* If you choose option A or B specifications, please contact us in advance

12



MR32 Dimensions

MR32 standard specifications dimensional drawings (no options) Unit:mm
71 *3 76 *3
g; 60 8 N
325 (6)M4x0.7, 8DP 38 - o
ﬂ\ Output table Fﬁ 3 ATQQ; 41_61 é
05 _{ u N C gl =1 1
d ® i —
= i SEE 2
ol =~ i1k : e
oo N o
/ (3)$5.5 THRU, C-BORE $9.5, 8DP(V surface) *3 *3

(3)M8x1.25, 16DP (W surface)

(4)M6x1, 10DP Motor base
|
¥ LG
o R
Q _ i _
I
o © 4
[aV]

*1 This figure shows a motor with a T side mounting specification. 40 18_1
*2 The relationship of the input/output shaft rotation directions is a-d, b-c.
*3 Please refer to pages 17 to 19 for dimensions.

MR32 standard specifications detailed view of the input axis, specifications without attachments o1,

6.5 16

62

ﬁé)o

B14°g0
16 802

O
95

62

O
AD

— T
\
|
$49
$56 303

(4)M5x0.8, 6DP
275

15



RollerDrive°

MR32’s option A specification dimension drawings

Unit:mm
71
67 *3 76 *3 +2mm
66 60 8 Q
325 (6)M4x0.7, 8DP 38 s 6 T
Output table g r—j &
S =
0 {
] ——
(05 _| u ~ o
- <)
4 _ Sla
&8 ©
= N
o o O| =
— ™
K:/‘ _ ;
W/ Ok/o &
Cao

(3)$5.5 THRU, C-BORE ¢9.5, 8DP(V surface) *3 *3
(3)M8x1.25, 16DP (W surface)
(4)M6x1, 10DP
Motor base
 ——
\$ . $
o R
g _ _ 1
T
0 4 4
Q
#*1 This figure shows a motor with a T side mounting specification. 40 18 ’
*2 The relationship of the input/output shaft rotation directions is a-d, b-c. =
*3 Please refer to pages 17 to 19 for dimensions.
MR32’s option B specification dimension drawings Unit:mm
82.5
785 *3 76 *3 +2mm
60 8 w©
£8.5 (6)M4x0.7, 8DP 38 o
25 325 T 0 8 16 %
S
QOutput table r [t} @
\ S s
[to) == Z
d @) 2 :
(0.5) U > U = T
I =~ D Y i
0] 2ol @
2 - 518 P
Y i) 0
! s ail v @ Z O
e o5 ® 3
N T T (] :
\
W/ ok o 3 -
o e &

(4)M6%1, 10DP

(3)$5.5 THRU, C-BORE ¢9.5, 8DP(V surface)

*3

*3

(3)M8x1.25, 16DP (W surface)

Motor base

1 This figure shows a motor with a T side mounting specification.
*2 The relationship of the input/output shaft rotation directions is a-d, b-c.
*3 Please refer to pages 17 to 19 for dimensions.

40

0

16




MR32 Dimensions

MR32 Attachment Code Selection Chart with Attachment Unitrmm
*2 76 f f 66
U surface 825
T surface

— a: Insertable motor
‘ __shaft diameter

L : b: Motor shaft diameters
\% % that can be inserted

102.5

62
62

34

\ () | )<$C *e
e -1
[Figure 1]\M [Figure Z]M d

[mm]
1 This figure shows a motor with a T side mounting specification. -
%2 This figure shows the standard specifications (no options). Motor position T surface U surface Attachment code Shape of the motor base
Model Code | MR32-12GLJT | MR32-12G[JU [1 to (15 Figure 1
*2 3.5 6.5 [6 to [(J7 Figure 2
Attaci‘ément a b c d e f Attachment code
Eiolels Accessories
Bl »36 41 N6 N7 D6 N2, N5 | Other All
¢6.35 .
B3 #38.1 47.14 Motor base O O O O O
_ (4)M4x0.7,
ce 36 50 5.5DP 275 Clamp collar O (@) (@) (©] O
¢8
c3 ¢38.1 47.14 Washer - O O - -
X
D4 ¢40 $63 (4)5M§DPO'8' Motor shaft sleeve - - O - O
¢9 = :
(4)95.5
D6 #50 ®70 THRU* | 285 Motor base bolt M5xX35 (4)* M5x10 (4)
E2 @10 ®36 - 50 (maxo07,| 275 Clamp collar bolts MBX16 (2)
5.5DP
F5 ¢11 ¢50 4770 - 315 * The motor base mounting bolt, M5X35, is a bolt for fastening the motor to the base.
(See motor mounting diagram 2)
N2 ¢36 - 50 (4)M4x0.7, 275
N5 550P 315
014
N6 ®50 ®70 -
@Wase | 20
N7

* Refer to motor mounting hole dimensions in the motor mounting diagram [Figure 2].

Motor installation schematic

[Figure 1] [Figure 2]

Motor mounting holes: (4)M5x0.8, 6.5DP

Motor mounting holes: (4)¢5.5 THRU

Motor shaft sleeve

Clamp collar bolts

Motor base Motor base

Washers
Motor mounting bolts

Motor mounting bolts

* If you choose option A or B specifications, please contact us in advance.

17




	04 Specifications
	05 MR20 Dimensions
	06 MR20 Dimensions
	07 MR20 Attachment Code
	10 MR25 Dimensions
	11 MR25 Dimensions
	12 MR25 Attachment Code
	15 MR32 Dimensions
	16 MR32 Dimensions
	17 MR32 Attachment Code



